You go to Best Buy to get some CD's and/or some
DVD's. CD's are $9 each and DVD's are $12 each.

1. Write an inequality to represent spending = H:‘CD g
no more than $72.
9C + 12D < 72 D= ¥ D%

2. Graph this inequality.

In addition to the restriction that you
can spend no more than $72 you also
want at least 4 CD's.

Write this additional contraint as an inequality.
czY

Now, how many ways can you meet both
conditions?

DVD's

9C+12D <72

How many ways
can you spend
no more

than $72?

DVD's

9C+12D <72

Additional
Constraint:

C=>4

10,

O

No negative numbers are
possible and CD's and DVD's
must be integer values only.

The 33 points in red represent
all the ways to spend no more
than $72.

If you graph both inequalities

on the same x-y plane you'l

find all the points that satisfy
both inequalities at the same time

in the area that gets shaded twice,
once for each inequality.

the 11 points in red represent
all the ways to meet both

constraints at the same time.
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SYSTEM OF LINEAR INEQUALITIES

DVD's 8
9C +12D <72
7/
70
e 7 J
Additional / Vi
Constraint:  |"A' / /1 / -
(6 > 4 i d, l 4, -

0 > i 6 8 10

Is (2, -3) a solution to this inequality?
XV

4X + 3y > _2 Yes, this makes the inequality true.
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This statement is True

Sec 7-6:

System of Linear Inequalities:
Two or more linear inequalities together.

Is (1, 4 ) a solution to this system
of ineq ualities? No, this point doesn't make BOTH

inequalities true.

y>6x-5 4x -3y > 10
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Solution to a System of Linear T n——

Inequalities: inequality?
Orderd pairs that make both inequalities true RN Ry o ey : e _
. y > _Xx+3 M A The solution to a linear |nec_1ua||‘ty
at the same time. ~ T L on the x-y plane are the points in the
=>— Shaded Area.
N // L
- Points on the line are solutions ONLY if
~ it is a Solid Line (< or >)
What is the solution to this system of Solution to a System of Linear
eqRallies Inequalities:
y<Xx-2 \ R Ta— Orderd pairs that make both inequalities true
inequalities is the are that at the same time. OR
is shaded for_ botAh inequalities . . .
y > -2x+3 \ gl e The region of the graph that is shaded twice,
- once for each inequality. |, other words
I Where the shaded regions overlap.
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